
Spiel 1 Spiel 2 Gesamt

Spiel 039 17:47 C 1 PANHOFER Josef 52 + 49 = 101 #

C 2 AIGNER Ernst 45 + 58 = 103 O

Spiel 041 18:05 C 3 HAHN Ernst 54 + 58 = 112 # # O

C 4 ÖLLERMEIER Fritz 56 + 48 = 104 #

Spiel 043 18:23 C 5 LINDORFER Klaus 52 + 49 = 101 #

C 1 PANHOFER Josef 53 + 44 = 97 #

Spiel 045 18:40 C 2 AIGNER Ernst 46 + 54 = 100 #

C 3 HAHN Ernst 56 + 72 = 128 # # O #

Spiel 047 18:57 C 4 ÖLLERMEIER Fritz 52 + 57 = 109 #

C 5 LINDORFER Klaus 54 + 44 = 98 #

Spiel 049 19:13 C 1 PANHOFER Josef 61 + 44 = 105 O O

C 3 HAHN Ernst 44 + 48 = 92 O

Spiel 051 19:29 C 2 AIGNER Ernst 54 + 60 = 114 # # #

C 4 ÖLLERMEIER Fritz 61 + 63 = 124 #

Spiel 053 19:44 C 3 HAHN Ernst 41 + 49 = 90

C 5 LINDORFER Klaus 47 + 45 = 92 O

Spiel 055 20:04 C 4 ÖLLERMEIER Fritz 48 + 49 = 97 #

C 1 PANHOFER Josef 56 + 62 = 118 # # #

Spiel 057 20:19 C 5 LINDORFER Klaus 43 + 61 = 104 # # #

C 2 AIGNER Ernst 47 + 46 = 93


